KTPS>x2T [BFFTILK]

L: 1] B A RP =Rt | B | ABE | TEM | &F

1|FE &F CoLZHAT 320 128 64 32 128 352

2| 7% [E—HR Jets 288 128 64 96 288

NIF B Jets 256 96 32 128 256

3|FFE FE|RK Jets 256 96 0 96 64 256

HEEIR D FZRIN—HJr 224 96 32 64 64 256

6|E8E G Jets 224 32 96 96 224

UESEIEo.N ColLHAT 192 64 128 192

8|An B D ASETC 160 32 128 160

gl E T=—R/N—=DJr | 160 32 64 64 160

8|=H Hl CoLHAT 160 64 64 32 160

8l/hNFE THA FZRIN—H 160 96 64 160

12| H #Hth VD ASETC 128 64 32 32 0 128
12(AF AF FZRIN—H 128 128 128
12|IUE R F=RIN—H 128 128 128
15(—F #X CoWLZHAT 96 32 32 32 32 128
16| =% HE BFET=XHH 96 64 32 0 96
16|=F & F=RIN—Y 96 0 32 32 32 96
18|B &R Mz U ASETC 64 32 32 64
18i5K EH | BAIT=AHE 64 64 64
18|36 SR D ASHTC 64 32 0 0 32 64
18[FEH i FRTC 64 64 64
18|fE R [EBRTXHE 64 64 64
23|85 8 ColL\HAT 48 16 32 48
24|5hH K&§ ColLvHAT 40 0 8 32 0 40
25| Rk FEF 2')— 32 0 32 32
25|%51h A gl & 32 32 32
YRIEEE ) FRTC 32 0 32 0 32
25|k Fr ZREL D ASETC 32 0 0 0 32 32
25|= 11 #kBA ColL\HAT 32 0 32 32
25| RiZE [BYF D ASETC 32 32 0 0 32
25|FFH —hRk Jets 32 0 0 32 32
25|IlLA fHE gl & 32 32 0 0 32
25|lL0O B FZRIN—H 32 32 32
4|HF EH | EBTAHE 16 16 16
4| FHE =iE FRTC 16 16 16
M|EH BEE ColLZHAT 16 16 16
37|/MiB #ERX ColL\HAT 14 10 4 14
37|%# M| {8l CoLHAT 14 10 4 14
9|FFKR A 2!)— 10 10 0 10
9| HEE = F=RIN—H 10 10 0 10
MK 54 pi|| iz pANE] 8 8 8
M|EFE BB ColLVHAT 8 8 0 8
41| B RE S5 =—— 8 0 8 8
MEEE Fth FRTC 8 8 0 8
MERKR B— S5 — 8 4 4 8
MEE LR CoLHAT 8 8 0 0 8
MBS IEE S5 — 8 0 8 8
M|=E IBF pi] iz pANa] 8 8 0 0 8
MUK BET—AHE 8 4 4 8
50|{FEE HE pi] iz pANa] 4 4 4
50/F9E #3th St5=— 4 4 0 4
50| % F Z=Fl S5 — 4 4 0 4
50| R#T {th 2!)— 4 4 4
50| KIE f21h 21)— 4 4 4
50([F#% KEH ColL\HAT 4 4 4
50/NAR B pi] iz pAN ] 4 4 4




KTPS>x2T [BFFTILK]

G=X:1] FriE F ik RP =EW | Bt | AER | TEM | &t
50| Er S FRTC 4 4 4
50/ KiF E4t FRTC 4 4 4
50/EER 15— ColLHAT 4 4 0 4




